
𝑥′

𝑦′

𝑧′

1

=

1 0
0 1

0 𝑡𝑥

0 𝑡𝑦

0 0
0 0

1 𝑡𝑧

0 1

𝑥
𝑦
𝑧
1

=

𝑥 + 𝑡𝑥

𝑦 + 𝑡𝑦

𝑧 + 𝑡𝑧

1

 

𝑇(𝑡) = 𝑇 𝑡𝑥, 𝑡𝑦 , 𝑡𝑧 =

1 0
0 1

0 𝑡𝑥

0 𝑡𝑦

0 0
0 0

1 𝑡𝑧

0 1

 

𝑥′

𝑦′

𝑧′

 

𝑡𝑥 

𝑡𝑦 

𝑥 

𝑦 

𝑥
𝑦
𝑧

 

平行移動（並進） 

座標変換 

𝑥′

𝑦′

𝑧′

1

=

1 0
0 1

0 𝑡𝑥

0 𝑡𝑦

0 0
0 0

1 𝑡𝑧

0 1

𝑥
𝑦
𝑧
𝜔

=

𝑥 + 𝑡𝑥

𝑦 + 𝑡𝑦

𝑧 + 𝑡𝑧

𝜔

 

𝜔＝0の場合無限遠方になります 

同次座標 



𝑥′

𝑦′

𝑧′

1

=

cos 𝜃 − sin 𝜃
sin 𝜃 cos 𝜃

0 0
0 0

0          0
0          0

1 0
0 1

𝑥
𝑦
𝑧
1

 

𝑅𝑧(𝜃) =

cos 𝜃 − sin 𝜃
sin 𝜃 cos 𝜃

0 0
0 0

0          0
0          0

1 0
0 1

 

𝑥′

𝑦′

𝑧′

 

𝑥
𝑦
𝑧

 

𝑧軸周りの回転 

𝑥 

𝑦 

𝜃 

𝑅𝑥(𝜃) =

1 0
1 cos 𝜃

0 0
− sin 𝜃 0

0 sin 𝜃
0 0

cos 𝜃    0
0 1

 𝑅𝑦(𝜃) =

cos 𝜃   0
0 1

sin 𝜃 0
0 0

− sin 𝜃 0
0 0

cos 𝜃 0
0 1

 

𝑥軸周りの回転 𝑦軸周りの回転 

ｖ 

ｖ 

ｖ 

ｖ 



𝑥 

𝑦 

𝜃 

𝑥′

𝑦′

𝑧′

1

=

cos 𝜃 − sin 𝜃
sin 𝜃 cos 𝜃

0 𝑡𝑥

0 𝑡𝑦

0          0
0          0

1 𝑡𝑧

0 1

𝑥
𝑦
𝑧
1

 

𝑧軸周りの回転後、並進 

𝑥 

𝑦 
𝑆(𝑠) = 𝑆 𝑠𝑥, 𝑠𝑦 , 𝑠𝑧 =

𝑠𝑥 0
0 𝑠𝑦

0 0
0 0

0 0
0 0

𝑠𝑧 0
0 1

 

𝑥′

𝑦′

𝑧′

1

=

𝑠𝑥 0
0 𝑠𝑦

0 0
0 0

0 0
0 0

𝑠𝑧 0
0 1

𝑥
𝑦
𝑧
1

 

拡大 



出典：https://www.wakayama-u.ac.jp/~tokoi/lecture/gg/ggbook03.pdf 

https://www.wakayama-u.ac.jp/~tokoi/lecture/gg/ggbook03.pdf
https://www.wakayama-u.ac.jp/~tokoi/lecture/gg/ggbook03.pdf
https://www.wakayama-u.ac.jp/~tokoi/lecture/gg/ggbook03.pdf
https://www.wakayama-u.ac.jp/~tokoi/lecture/gg/ggbook03.pdf


𝑥 

𝑦 
𝐻𝑥𝑦(𝑠) =

1 𝑠
0 1

0 0
0 0

0 0
0 0

1 0
0 1

 

せん断 

𝑠 

𝑥′

𝑦′

1

=
−1 0 0
0 1 0
0 0 1

𝑥
𝑦
1

 

𝑥′

𝑦′

𝑧′

 

𝑥 

𝑦 

𝑥
𝑦
𝑧

 

鏡映 



𝑥 

𝑦 

𝑥′

𝑦′

1

=

ℎ11 ℎ12 ℎ13

ℎ21 ℎ22 ℎ23

ℎ31 ℎ32 ℎ33

𝑥
𝑦
1

 

=

ℎ11𝑥 + ℎ12𝑦 + ℎ13

ℎ21𝑥 + ℎ22𝑦 + ℎ23

ℎ31𝑥 + ℎ32𝑦 + ℎ33

 

𝑥
𝑦
𝑧

 

𝑥′

𝑦′

𝑧′

 

射影変換 


